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Cash $ 130,000
Prepaid Insurance 160,000
Accounts Receivable 100,000
Inventory 140,000
Land held for Investment 150,000
Land 180,000
Buildings $200,000
Less Accumulated
Depreciation (40,000) 160,000
Trademarks 140,000
Total Assets $1,160,000
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Accounts Payable $ 140,000
Salaries Payable 20,000
Mortgage Payable 160,000
Total Liabilities $320,000
Common Stock $340,000
Retained Earnings 500,000
Total Stockholders’ Equity $840,000

Total Liabilities and
Stockholders’ Equity  $1,160,000

5. Jamal Company began the year with $66,000 in its Common Stock account and a debit balance in
Retained Earnings of $36,000. During the year, the company earned net income of $18,000 and
declared and paid $6,000 of dividends, In addition, the company sold additional common stock
amounting to $22,000. Based on this information, what should the transaction analysis show for the

ending total of all stockholders' equity accounts?

6. THIRFATE—FBENER  HLHSEREHAFNEE
Accounts receivable 12,000

Cash received from customers
Cash paid for expenses
Prepaid rent for next period 7,000

$46,000
26,000  Accounts payable (related to expenses) 3,000
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7. EDFIRRKERES - SR st HRaD
a. To check the accuracy of the perpetual inventory records
b. To determine cost of goods sold for the accounting period
¢. To compute inventory ratios
d. To computer current ratio.

8. MIBAFRBRIINATERERRZUT:

June 1 150 units $ 780
June 10 200 units 1,170
June 15 200 units 1,260
June 28 150 units 1,080

#£ 6 H 30 HE RN 250 BRI - ATHREGESHIE: - R 6 A 30. BHRFRESH?

9. B L4 BRI TYRBMEEE A 6 BEFIRRE?
a. the FIFO method. b. the LIFO method.
¢. the weighted average unit cost method. d. not determinable.

10. Which of the following statements is true?
a. Due to its liguid nature, cash is the easiest asset to steal.
b. A good system of internal control will ensure that employees will not be able to steal
cash.
It takes two or more employees working together to be able to steal cash.
d. All statements are true.

11, PSS R TR T B 380
a. all hills are paid in cash.

b. disbursements are made by the accounts payable subsidiary clerk.
¢, payments are made by check. d. alt purchases are made on credit,

12. . Wilton sells softball equipment. On November 14, they shipped $2,000 worth of softball
uniforms to Paola Middle School, terms 2/10, n/30. On November 21, they received an order
from Douglas High School for $1,200 worth of custom printed bats to be produced in
December. On November 30, Paola Middle School returned $200 of defective merchandise.
Wilton has received no payments from either school as of month end. What amount will be
recognized as net accounts receivable on the balance sheet as of November 30 7
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Cash balance per books, 8/31 $7,000
Deposits in transit 1,300
Notes receivable and interest collected by bank 1,700
Bank charge for check printing 40
Qutstanding checks 4,000
NSF check 340

The adjusted cash balance per books on August 31 is?

14. Ramirez Company acquires land for $260,000 cash. Additional costs are as follow.
Removal of shed  $2,000  Filling and prading ~ $6,000
Salvage value of lumber of shed $ 1,280  Broker commission  $5,520
Paving of parking lot  $40,000  Closing costs  $3,400
Ramirez will record the acquisition cost of the land as?

15. Nichols Company uses the percentage of receivables method for recording bad debts expense.
The accounts receivable balance is $240,000 and credit sales are $1,000,000. Management
estimates that 5% of accounts receivable will be uncollectible. What adjusting entry will
Nichols Company make if the Allowance for Doubtful Accounts has a credit balance of
$2,000 before adjustment? GHEIESEH)

16. Gipson Furniture factors $400,000 of receivables to Kwik Factors, Inc, Kwik Factors assesses a
5% service charge on the amount of receivables sold. Gipson Furniture factors its
receivables regularly with Kwik Factors. What journal entry does Gipson make when
factoring these receivables? GE{ES4%)

17.Sparks Company received proceeds of $211,500 on 10-year, 8% bonds issued on January 1,
2011. The bonds had a face value of $200,000, pay interest annually on December 31st,
and have a call price of 102. Sparks uses the straight-line method of amortization. Sparks
Company decided to redeem the bonds on January 1, 2013, What amount of gain or loss
would Sparks report on their 2011 income statement?

18, Berman Inc. has 4,000 shares of 8%, $50 par value, cumulative preferred stock and 50,000
shares of $1 par value common stock outstanding at December 31, 2011, and December
31, 2012. The board of directors declared and paid a $12,000 dividend in 2011, In 2012,

$48,000 of dividends are declared and paid. What are the dividends received by the
common stockholders in 20127
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19. Wilma' s Vegetable Market had the following transactions during 2012:

Tssued $25,000 of par value common stock for cash.

Recorded and paid wages expense of $10,000.

Acquired land by issuing common stock of par value $50,000.
Declared and paid a cash dividend of $1,000.

Sold a long-term investment (cost $3,000) for cash of $3,000.
Recorded cash sales of $20,000.

Bought inventory for cash of $2,000.

Acquired an investment in IBM stock for cash of $6,000.

Converted bonds payable to common stock in the amount of $10,000.

W oge NS R W

10. Repaid a 6 year note payable in the amount of $11,000.
‘What is the net cash provided by operating activities?




